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QUESTION 1

What can be found in the /proc/ directory?
A. One directory per installed program.

B. One device file per hardware device.
C. One file per existing user account.

D. One directory per running process.

E. One log file per running service.

Correct Answer: D

QUESTION 2

What is the return value of a shell script after successful execution?
Al

B.0

C.-1

D. -255

E. 255

Correct Answer: B

QUESTION 3

The current directory contains the following file:

-rwxr-xr-x 1 root root 859688 Feb 7 08:15 test.sh

Given that the file is a valid shell script, how can this script be executed? (Choose two.)
A. run test.sh

B. ${test.sh}

C. cmd ./test.sh

D. ./test.sh

E. bash test.sh

Correct Answer: DE
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QUESTION 4

The current directory contains the following file:

-rw-r--r-- 1 root exec 24551 Apr 2 12:36 test.sh

The file contains a valid shell script, but executing this file using ./test.sh leads to this error:
bash: ./test.sh: Permission denied

What should be done in order to successfully execute the script?

A. The file\\'s extension should be changed from .sh to .bin.

B. The execute bit should be set in the file\\'s permissions.

C. The user executing the script should be added to the exec group.
D. The SetUID bit should be set in the file\\'s permissions

E. The script should be run using #!./test. sh instead of ./test.sh.

Correct Answer: B

QUESTION 5

How is a new Linux computing instance provisioned in an laaS cloud?

A. The standard Linux installer has to be run through a remote console.

B. After buying a Linux distribution, its vendor delivers it to a cloud instance.

C. The installation has to be prepared in a local virtual machine which is then copied to the cloud.

D. The cloud hosting organization provides a set of pre-prepared images of popular Linux distributions.

E. A provider-specific configuration file describing the desired installation is uploaded to the cloud provider.

Correct Answer: E
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